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Attempt five questions in all, attempting at

least two questions from each section.
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SECTION - A
SWTT - <6

1. What do you understand by the term ‘Modes of
Production’ ? Bring out clearly the features of capitalist

mode of production. 10,10
‘FearA-Gftel’ g @ oM wwed § 7 IS IareA
{ifd & sifeamt = gEge e st
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2. Explain the term ‘Economic Welfare’. Do you regard
real per capita income as a true index of economic
welfare ? 8,12

‘anfdier T’ wg i swEn HifT| ¥ e arafaes
vt =gtk 27 ! anfies oot 1 aems gEes ad 8 7

3. What are the causes of inequalities of income and
wealth in India ? What fiscal measures would you adopt

to reduce these inequalities ? 10,10
Rd T 31 a1 o9 W FHuEaRt & 1 BN £7 W
A R HH B % T T T TR U
STOATE ?

4. How does the occupational structure change as
economic development takes place 7 What are the main
features of occupational structure of India since

independence ? 12,8

il fomm & o1y FEERE g Y TR 95
St 7 wEaAd & 9% 4 wRd & SFEaifye 9@ &
@ A w= g ?

5. Write notes on any two of the following :
(a) Circular flow of income

(b) Mixed economy
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{c) Difficulies in the Measurement of National
income in an underdeveloped economy. 10,10

Freforfiae o 8 fohedi & ot feopft fafigu -
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(@) Tafid ardfaraeen
(1) srcuREmtn wdeEen ¥ wde 9™ % §wE §
HiGTTEAT |
SECTION - B
W -

6. Discuss the total outlay method of Measuring price
elasticity of demand. Do two parallel straight line
demand curves have the same elasticity at a given

price? Explain. 12,8
At B B A T e e T 5 R
it | 7 Trea Fiwd WS v we W i gl A
A T g B 7 e R

7. Using the Indifference curves show how will you draw
Price Consumption Curve ” How will you derive and
individual demand curve for a commodity from such a
curve 7 10,10
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10.
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Distinguish between average fixed costs and average
variable costs. Will a firm produce in the short run if it
1s not covering average cost ? Give reasons. 10,10

3iva R o ofiR aftwa wited srrat § e Sifvmy
T 13 ® 0 e T gt 7 ued W erereR
3eqTE ST 7 HRIT AT |

Distinguish ~ between  Simple  Monopoly and
Discriminating Monopoly. Explain the price and output
determination under Simple Monopoly. 8,12

YR THIYSR 3 YeHeld UHIEeR 3 3fa on
FHITTT | TTHRYT TRIERR & 3Tdild g e Ieare Fafor

F ws FHifm

“The essence of the concept of Economic Rent is the
surplus earned by a Factor of Production over and

-above the minimum eamings to induce it to do its

work.” Explain the statement. 20
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